TG EEEEP VT 1P I IRFES1 TO v OAS

=iz KFRHY =057 « FIOI—R(7024Yards Par 72)
88 ¢ 58168 (&)
IYVRU—: 1348
BB 1278
59 &8l e 237 59) &8l e 237 59) &8l s 237 59 &8l e 237

1 k2 PIAF<vo 12 (38, 34) =i =% 79 (39, 40) BN BRI swsommensize 83 (42.41) 123 WVAIB 18§ =50 92 (46, 46)

2 HERR smEX 72 (36.36) AR fo— #HE 79 (39.40) FMN FRE  2ouvsoauz 83 (42.41) 124 &F R B®E 96 (50, 46)
EF MR me 72 (36.36) INE 3¢ S 79 (39, 40) T &R ;AN 83  (41.42) %% FBO [BX @

4 T EHh H®E 73 (37.36) BB B s 79  (38.41) E T KBELADR 83 (41,42 £ BE B—  Fvu790-ux
BH -2 gaE 73 (36.37) =FE KXY 79 (37.42) i = =mao® 83  (41.42) =i BS UE K%

6 WA BFR K% 74 (38.36) 46 ARG BEB72 80  (42.38) A ML mmy-—v<r 83 (40, 43) xi5 fES B BT
Wik RiE W 74 (37.37) BE 888 #=x 80  (42.38) FREED = 83  (38.45) xig SBEH K#E YRS
WEB RE FEEK 74 (35.39) bR E s 80  (42.38) BE &S Bos 83  (38.45) x5 = PW— PSR

9 BB X AN 75  (39.36) KB &t wZIK 80  (41.39) 90 S5 bE KBLUAOZ 84 (43.41) xRz DU B S
7N HE  =Am 75 (39.36) HFOSE  xwz-mms 80 (41.39) S RIS KBELIIZ 84 (43.41) xig 0 BB  kPL1OZ
BRE BY ==mAB® 75  (38.37) 1RIR HEE avenvwzsox 80 (41.39) NE B wmTs 84 (42,42 x5 FIE RN mEH
LD BA BE-mB 75 (38.37) RE 1T  BER-mB 80 (41,39 NIEZ =w=peiz 84 (42,42 xig VK R BETF
EW B i 75  (37.38) EMNEY =R 80  (39.41) [RE B—BR £%5 84  (41.43)

MT BEZT kPLro2 75  (37.38) BRIE smsoamowovar 80 (38, 42) B B KkPLro2 84 (40.44)
AN B &) 75 (36, 39) B X—B8 ©E 80  (36.44) 96 I\EFF EK mm 85  (44.41)

16 AR EA remeonmes 716 (40, 36) 56 8 R&E  Amr-mess 81 (43.38) BB RBE  Amr-mms 85 (44.41)
A 15 EARD 76 (40, 36) RE RN BRENI 81  (42.39) EHF BE \BRMRE 85 (44,41
ol 08B K% 76 (39.37) BHEMME -—2y3P 81 (42,39 Bl F88  wois 85  (42.43)
RN& fe— B=®=Y2-P 716 (39.37) S R BEX 81  (42.39) SR B KkPLroR 85 (42,43)
EIRN YN =31 76 (39.37) s —8 poER 81  (42.39) hE 88 FEExs 85 (40, 45)
BRIX 85— B 76 (38.38) BB &S —-2y3P 81 (42,39 WARE — K E2LER 85  (38.47)
ER Xt kFLroH2 76 (37.39) B = KBLADOZ 81 (42.39) 103 2B FE  “PEILX 86  (45.41)
Bl St orwuzs— 76 (36, 40) S ikt mes 81 (41, 40) IR IEBl  +vsoc-uz 86  (44.42)
=EE SR mEs 76 (36, 40) BB B2/ 2hrox+o 81 (41,40 Hik EX ZFHg 86  (43.43)
EES JRBA mE 76 (35.41) $FF FE STy 81 (41, 40) W8 85 #ys5 86  (43.43)

26 2 BK  KkPL1o2 71 (39.38) BE BT sUPLa— 81 (41,40 20 EBF =t 86  (41.45)
B X Es 77 (39.38) B0 E/f A== 81 (41,40 108 A5 BE I 87  (48.39)
AN B8 xErU—-> 11 (38.39) ik PR 81 (41, 40) 2l 5 I 7 87  (44.43)
A iR wENVFU— 1T (38.39) NEBE 2Hrozr 81 (41,40 ERAK BRXK g% 87  (43.44)

30 I/E 3 mANI 78  (42.36) IRE B nos 81 (41,40 AN BABE EIK 87  (41.46)

- DLE. R ES - 71 RN B BEI 82  (44.38) £9K IE—BB mmnrvu— 87 (40, 47)
BARAEBAN T 78 (41.37) WU FE KRR 82  (41.41) 113 148 728 m@nrwu— 88 (47.41)
W Bs5A  =hoozar 78 (41.37) B —E FE=iE 82  (41.41) %5 B8 B2 88  (43.45)
=ik BIE sAEl 78  (40.38) =% F3A BYESL 82  (41.41) 115 50 EK  BER-MEB 89 (46.43)
ARKHES AN 78  (39.39) I A BER-MB 82 (40.42) L BN TEEE 89 (44,45
B 8k @ 78 (38, 40) mREN B85 82  (40.42) 117 0= ZE srued-sv 90 (47, 43)

36 @A EBI W 79 (42.37) X8 AB e 82  (40.42) e R5 B2 90 (46, 44)
Wigk =T 2HmEKX 79 (42.37) K= BEARD KRR 82  (40.42) A e JULYVEPR 90 (46, 44)
2 BBR RPELX 79 (40, 39) FNBR™ = 82  (39.43) 6F BEE ©®E 90 (44, 46)
FEA A —yy-— 79 (40, 39) FE F|H  KkFL1YZ 82 (39.43) SHIFE =8 90 (44, 46)
s R TEAMKGA Y2=7 79 (40. 39) 81 E;% éﬂ_j; HTE 83 (46, 37) 122 5@2}77 ,5— o E 91 (47. 44)



